

NAME: FETERIGI KARINATE BOGOFANYO

DEPT: ARCHITECTURE

MAT-NO: 19/SCI18/004

MAT 102

$$\textcircled{1} \cos \theta = \frac{A \cdot C}{\|A\| \|C\|}$$

$$\theta = \cos^{-1} \left[ \frac{A \cdot C}{\|A\| \|C\|} \right]$$

$$\begin{aligned} A \cdot C &= (3i) \cdot (9i) + (7j) \cdot (-4j) + (-2k) \cdot (6k) \\ &= 27 + (-28) + (-12) \end{aligned}$$

$$A \cdot C = -13$$

$$\|A\| = \sqrt{(3)^2 + (7)^2 + (-2)^2} = \sqrt{62}$$

$$\|C\| = \sqrt{(9)^2 + (-4)^2 + (6)^2} = \sqrt{133}$$

$$\theta = \cos^{-1} \left[ \frac{-13}{\sqrt{62} \sqrt{133}} \right]$$

$$\theta = 98.23^\circ$$

$\therefore$  the angle between A and C is  $98.23^\circ$

$$\textcircled{1} \textcircled{ii} \theta = \cos^{-1} \left[ \frac{B \cdot C}{\|B\| \|C\|} \right]$$

$$\begin{aligned} B \cdot C &= (i)(9i) + (3j)(-4j) + (7k)(6k) \\ &= 9 + (-12) + 42 \\ &= 39 \end{aligned}$$

$$\|B\| = \sqrt{(1)^2 + (3)^2 + (7)^2} = \sqrt{442}$$

$$\|C\| = \sqrt{(9)^2 + (-4)^2 + (6)^2} = \sqrt{133}$$

$$\theta = \cos^{-1} \left[ \frac{39}{\sqrt{442} \sqrt{133}} \right]$$

$$\theta = 80.74^\circ$$

$\therefore$  the angle between B and C =  $80.74^\circ$

$$\textcircled{1} \textcircled{iii} (A + B + C) =$$

$$\langle 3, 7, -2 \rangle + \langle 1, 3, 7 \rangle + \langle 9, -4, 6 \rangle$$

$$\langle 4, 10, 5 \rangle + \langle 9, -4, 6 \rangle$$

$$\langle 13, 6, 11 \rangle \quad \textcircled{2}$$

$$\langle 0, 0, 0 \rangle \rightarrow \langle 13, 6, 11 \rangle$$

$$\sqrt{(x_2 - x_1)^2 + (y_2 - y_1)^2 + (z_2 - z_1)^2}$$

$$= \sqrt{(13-0)^2 + (6-0)^2 + (11-0)^2}$$

$$= \sqrt{(13)^2 + (6)^2 + (11)^2} = \sqrt{326}$$

$$U = \frac{1}{\sqrt{326}} (13i + 6j + 11k)$$

$$\textcircled{1} \text{ (ii) } u = \frac{1}{\sqrt{326}} (13i + 6j + 11k)$$

$$u = \frac{13}{\sqrt{326}} i + \frac{6}{\sqrt{326}} j + \frac{11}{\sqrt{326}} k$$

$$\textcircled{2} \vec{r} = 8t^2 \hat{i} + (t^2 - 4t) \hat{j} + (t + 1) k$$

velocity vector  $\vec{v} = d\vec{r}/dt$

$$\frac{d\vec{r}}{dt} = 16t \hat{i} + (2t - 4) \hat{j} + k$$

now at time  $t = 1$  sub the value for  $t = 1$   
vector  $\vec{v} = \frac{d\vec{r}}{dt} = 16(1) \hat{i} + (2(1) - 4) \hat{j} + k$

$$= \cancel{16\hat{i}} + 16\hat{i} - 2\hat{j} + k$$

and for acceleration

$$\vec{a} = \frac{d\vec{v}}{dt} = 16\hat{i} + (2 - 0) \hat{j} + 0$$

$$= 16\hat{i} + 2\hat{j}$$

$$= 16\hat{i} + 2\hat{j}$$

$$\textcircled{3} A \times B = \begin{array}{c} + \quad - \quad + \\ \left| \begin{array}{ccc} i & j & k \\ 4 & 2 & -4 \\ 8 & -2 & 1 \end{array} \right| \end{array}$$

$$= \begin{array}{c} \left| \begin{array}{cc} 2 & -4 \\ -2 & 1 \end{array} \right| i - \left| \begin{array}{cc} 4 & -4 \\ 8 & 1 \end{array} \right| j + \left| \begin{array}{cc} 4 & 2 \\ 8 & -2 \end{array} \right| k \end{array}$$

$$\hat{i}(2 - 8) - \hat{j}(4 + 32) + \hat{k}(-8 - 16)$$

$$-6\hat{i} - 36\hat{j} - 24\hat{k} \quad \rightarrow \text{D}$$

$$D \times C = \begin{array}{c} + \quad - \quad + \\ \left| \begin{array}{ccc} i & j & k \\ -6 & -36 & -24 \\ 1 & 4 & -3 \end{array} \right| \end{array}$$

$$= \begin{array}{c} \left| \begin{array}{cc} -36 & -24 \\ 4 & -3 \end{array} \right| i - \left| \begin{array}{cc} -6 & -24 \\ 1 & -3 \end{array} \right| j + \left| \begin{array}{cc} 6 & -36 \\ 1 & 4 \end{array} \right| k \end{array}$$

$$(108 + 96)\hat{i} - (18 + 24)\hat{j} + (24 + 36)\hat{k}$$

$$204\hat{i} - 42\hat{j} + 60\hat{k} //$$